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1. Propanal and propanone are :   

(A) Chain isomers  

(B) Position isomers 

(C) Functional group isomers  

(D) Metameres  

 1. izksisuy ,oa izksisuksu gSa % 

(A) Jà[kyk leko;o  

(B) fLFkfr leko;o 

(C) fØ;kRed lewg leko;o 

(D) e/;ko;o 

2. The optically active compound is :  

(A)   1- Chlorobutane 

(B) 2 - Chlorobutane  

(C) 1- Chloropropane  

(D) 2- Methyl-2- chlorobutane  

 2. izdkf’kd :i ls lfØ; ;kSfxd gS % 

(A) 1- DyksjksC;wVsu 

(B) 2 - DyksjksC;wVsu 

(C) 1- Dyksjksizksisu 

(D) 2- esfFky&2&DyksjksC;wVsu 

3. The correct order of stability of 

carbanions is : 

(A)   Tertiary >Secondary >Primary  

(B) Secondary > Tertiary > Primary 

(C) Primary > Secondary > Tertiary  

(D) Primary > Tertiary > Secondary 

 3. dkcZ_.kk;uksa ds LFkkf;Ro dk lgh Øe gS % 

(A) rr̀h;d > f}rh;d > izkFkfed 

(B) f}rh;d > r̀rh;d > izkFkfed 

(C) izkFkfed > f}rh;d > r̀rh;d 

(D) izkFkfed > rr̀h;d > f}rh;d 

4. In free radicals, hybridization of 

the C atom carrying unpaired 

electron is :   

(A)   sp 

(B) spଶ 

(C) spଷ 

(D) spଶ ݎ݋ spଷ 

 4. eqDr ewydks esa] v;qfXer bysDVªkWu j[kus okys 

C ijek.kq dk ladj.k gksrk gS % 

(A)   sp 

(B) spଶ 

(C) spଷ 

(D) spଶ;kspଷ 



Series-A B.Sc. - B020101T/ 564 Page - 4 

5. Which among the following has 

highest dipole moment ?  

(A)   COଶ 

(B) BFଷ 

(C) NHଷ 

(D) NFଷ 

 5. fuEu esa ls fdldk f}/kqzo vk?kw.kZ lokZf/kd 

gS\ 

(A)   COଶ 

(B) BFଷ 

(C) NHଷ 

(D) NFଷ 

6. Which of the following is a 

nucleophilic reagent ?  

(A)   OHି 

(B) C
ା

Hଷ 

(C) AlClଷ 

(D) Clା 

 6. fuEu esa ls dkSu ,d ukfHkd Lusgh vfHkdeZd 

gS \ 

(A)   OHି 

(B) C
ା

Hଷ 

(C) AlClଷ 

(D) Clା 

7. Which of the following reaction 

intermediate is reactive ?  

(A)   Free radicals  

(B) Carbocations  

(C) Carbanions  

(D) All of the above  

 7. fuEu esa ls dkSu vfHkfØ;k e/;orhZ fØ;k’khy 

gS \ 

(A) eqDr ewyd  

(B) dkcZ/kuk;u  

(C) dkcZ_.kk;u  

(D) mi;qZDr lHkh 

8. Number of electrons present in the 

valence shell of positively charged 

C atom of a carbocation is :  

(A)   4 

(B) 6 

(C) 7 

(D) 8 

 8. 

 

 

dkcZ/kuk;uksa ds /kukosf’kr C ijek.kq ds 

ckáre dks’k esa mifLFkr bysDVªkuksa dh 

la[;k gS % 

(A)   4 

(B) 6 

(C) 7 

(D) 8 
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9. The +I effect is shown by :  

(A)   −CHଷ group  

(B) −OH group  

(C) −F group  

(D) −C଺Hହgroup 

 9. +I izHkko iznf’kZr fd;k tkrk gS % 

(A)   −CHଷlewg }kjk 

(B) −OHlewg }kjk 

(C) −Flewg }kjk 

(D) −C଺Hହlewg }kjk 

10. The correct order of stability of the 

following carbocation’s is – 

CHଶ = CH− C
ା

Hଶ
(X)

,CHଷCHଶC
ା

Hଶ
(Y)

 , C଺HହC
ା

Hଶ
(Z)

 

(A)   X > Y > Z 

(B) Y > Z > X  

(C) Z > X > Y 

(D) Z > Y > X 

 10. fuEu dkcZ/kuk;uksa ds LFkkf;Ro dk lgh Øe 

gS % CHଶ = CH − C
ା

Hଶ
(X)

,CHଷCHଶC
ା

Hଶ
(Y)

 , C଺HହC
ା

Hଶ
(Z)

 

(A)   X > Y > Z 

(B) Y > Z > X 

(C) Z > X > Y 

(D) Z > Y > X 

11. The essential condition for optical 

activity is :  

(A)   Presence of chiral C atom 

(B) Molecular asymmetry  

(C) Presence of centre of 

symmetry  

(D) Presence of plane of 

symmetry 

 11. izdkf’kd lfØ;rk ds fy, vko’;d ‘krZ gS % 

(A) dkbjy C ijek.kq dh mifLFkfr 

(B) vkf.od vleferrk 

(C) leferrk dsUnz dh mifLFkfr 

(D) leferrk ry dh mifLFkfr 

12. The most stable conformation of 

ethane is : 

(A)   Staggered  

(B) Eclipsed  

(C) Skew 

(D) All are equally stable 

 12. ,Fksu dk lokZf/kd LFkk;h la:i.k 

¼dkUQkesZ’ku½ gS % 

(A) lkarfjr :i ¼LVSxMZ½ 

(B) xzLr :i ¼,dfyILM½ 

(C) fo”keryh; :i ¼LD;w½ 

(D) lHkh leku :i ls LFkk;h gSa 
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13. The hybridization of C atoms in 

HଶC = C =  CHଶ molecule are :  

(A)   spଶ in all  

(B) spin all 

(C) spଶ , sp and spଶ 

(D) sp , spଶandsp 

 13. HଶC = C =  CHଶv.kq esa C ijek.kqvksa dk 

ladj.k gS % 

(A) lHkh esa spଶ 

(B) lHkh esa sp 

(C) spଶ , sp ,oa spଶ 

(D) sp , spଶ,oa sp 

14. Ethyl bromide on treatment with 

silver cyanide gives :  

(A)  CHଷ CHଶ CN 

(B) CHଷCHଶNC 

(C) HଶC = CHଶ 

(D) HC ≡ CH 

 14. flYoj lk;ukbM ds lkFk fØ;k djds ,fFky 

czksekbM nsrk gS % 

(A)  CHଷ CHଶ CN 

(B) CHଷCHଶNC 

(C) HଶC = CHଶ 

(D) HC ≡ CH 

15. Which of the following is a 

computer storage device ?  

(A)   Magnetic tape 

(B) DVD 

(C) Pen drive 

(D) All of the above 

 15. fuEu esa ls dkSu ,d dEI;wVj LVksjst 

fMokbl gS \ 

(A) eSXusfVd Vsi 

(B) DVD 

(C) isu Mªkbo 

(D) mi;qZDr lHkh 

16. Hard disc of a computer is a/an : 

(A)   Input device  

(B) Output device  

(C) Storage device  

(D) All of the above  

 16. fdlh dEI;wVj dk gkMZ fMLd gksrk gS % 

(A) buiqV fMokbl  

(B) vkmViqV fMokbl 

(C) LVksjst fMokbl  

(D) mi;qZDr lHkh 
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17. The C – C – C bond angle in 

propyne is :  

(A)   109° 28′ 

(B) 120° 

(C) 180° 

(D) 72° 

 17. izksikbu esaC – C – C vkca/k dks.k gksrk gS % 

(A)   109° 28′ 

(B) 120° 

(C) 180° 

(D) 72° 

18. Which of the following has bond 

order =1 ? 

(A)   ܱ ଶ
ଶି 

(B) ܱଶା 

(C) Oଶ 

(D) ܱଶି 

 18. fuEu esa ls fdldk vkca/k dksfV =1 gS ? 

(A)   ܱ ଶ
ଶି 

(B) ܱଶା 

(C) Oଶ 

(D) ܱଶି 

19. A simple Ludo dice is tossed what 

is the probability for even numbers 

on the upper side ? 

(A)   1/6 

(B) 1/3 

(C) 1/2 

(D) 5/6 

 19. ,d lkekU; ywMks ik¡lk (dice) dks mNkyk 

x;kA Åijh lrg ij le la[;k ds vkus dh 

izkf;drk D;k gS \ 

(A)   1/6 

(B) 1/3 

(C) 1/2 

(D) 5/6 

20. In how many ways the letters of 

word “EFFORT” can be arranged? 

(A)   360 

(B) 720 

(C) 540 

(D) 480 

 20. ‘kCn“EFFORT” ds v{kjksa dks fdrus izdkj 

ls O;ofLFkr fd;k tk ldrk gS \ 

(A)   360 

(B) 720 

(C) 540 

(D) 480 
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21. The molecule with trigonal 

bipyramidal structure is :   

(A)   IF଻ 

(B) BrFହ 

(C) PClହ 

(D) XeOFସ 

 21. f=dks.kh; f}fijkfeMh lajpuk okyk v.kq gS % 

(A)   IF଻ 

(B) BrFହ 

(C) PClହ 

(D) XeOFସ 

22. Which of the following anions has 

maximum polarizability ?  

(A)   Fି 

(B) Clି 

(C) Brି 

(D) Iି 

 22. fuEu esa ls fdl _.kk;u dh /kzqo.krk 

lokZf/kd gS \ 

(A)   Fି 

(B) Clି 

(C) Brି 

(D) Iି 

23. The correct order of C – Cbond 

length is found in :  

(A)   Ethane > Ethene > Ethyne 

(B) Ethane > Ethyne > Ethene 

(C) Ethene > Ethane > Ethyne 

(D) Ethyne > Ethene > Ethane 

 23. C – Cvkca/k yEckbZ dk lgh Øe ik;k tkrk 

gS % 

(A) bFksu> ,Fkhu >bFkkbu 

(B) bFksu >bFkkbu >,Fkhu 

(C) ,Fkhu >bFksu >bFkkbu 

(D) bFkkbu >,Fkhu >bFksu 

24. The hybridisation of C atoms in 

propyne molecule is /are : 

(A)   sp and spଶ 

(B) spଶ 

(C) spଷ 

(D) sp and spଷ 

 24. izksikbu v.kq esa C ijek.kqvksa dk ladj.k gksrk 

gS% 

(A)   sp ,oa spଶ 

(B) spଶ 

(C) spଷ 

(D) sp ,oa spଷ 
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25. Intramolecular H-bond is present 

in :  

(A)   HF 

(B) o-Nitrophenol 

(C) p-Nitrophenol  

(D) HଶO 

 25. varjk v.kqd H-vkca/k ik;k tkrk gS % 

(A) HF esa 

(B) o-ukbVªksfQukWy esa  

(C) p-ukbVªksfQukWy esa  

(D) HଶOesa  

26. The number of radial and angular 

nodes in 3d orbital are, 

respectively:  

(A)   2 and 2 

(B) 0 and 2 

(C) 3 and 0 

(D) 3 and 2 

 26. 3dd{kd esa f=T; uksM ,oa dks.kh; uksM dh 

la[;k gS] Øe’k% & 

(A)   2 ,oa 2 

(B) 0 ,oa 2 

(C) 3 ,oa 0 

(D) 3 ,oa 2 

27. Which of the following has longest 

bond length ?  

(A)   Oଶ
ା 

(B) Oଶ 

(C) Oଶ
ି 

(D) Oଶ
ଶି 

 27. fuEu esa ls fdldh vkca/k yEckbZ lokZf/kd 

gS\ 

(A)   Oଶ
ା 

(B) Oଶ 

(C) Oଶ
ି 

(D) Oଶ
ଶି 

28. Which of the following element 

cannot form H-bond at ordinary 

temperature ?   

(A)   F 

(B) O 

(C) N 

(D) Cl 

 28. fuEu esa ls dkSu lk rRo lkekU; rki ij 

H-vkca/k ugha cuk ldrk \ 

(A)   F 

(B) O 

(C) N 

(D) Cl 
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29. The shape of methyl carbocation 
+CHଷis :  

(A)   Trigonal planar  

(B) Trigonal pyramidal 

(C) Tetrahedral  

(D) Linear  

 29. esfFky dkcZ/kuk;u +CHଷdh vkÑfr gS % 

(A) f=dks.kh; leryh;  

(B) f=dks.kh; fijkfeMh 

(C) prq”Qydh;  

(D) js[kh; 

30. Heterolytic fission of C – Br bond 

produces :   

(A)   Two free radicals  

(B) Two carbocation’s  

(C) Two carbanions  

(D) One cation and one anion  

 30. C – BrcU/k dk fo”ke vi?kVuh fonyu 

mRiUu djrk gS % 

(A) nks eqDr ewyd 

(B) nks dkcZ/kuk;u 

(C) nks dkcZ_.kk;u 

(D) ,d /kuk;u ,oa ,d _.kk;u 

31. Maleic and Fumaric acids are :  

(A)   Structural isomers 

(B) Geometrical isomers  

(C) Optical isomers  

(D) Conformational isomers  

 31. eSysbd ,oa ¶;weSfjd vEy gSa % 

(A) lajpukRed leko;o 

(B) T;kferh; leko;o 

(C) izdkf’kd leko;o 

(D) la:i.kh; leko;o 

32. The enantiomers differ in their : 

(A)   Direction of optical rotation  

(B) Melting points  

(C) Physical properties  

(D) Chemical properties  

 32. izfrfcac :i ¼,usfUl;kselZ½ fHkUurk j[krs gSa % 

(A) izdkf’kd ?kw.kZu dh fn’kk esa  

(B) xyukad esa  

(C) HkkSfrd xq.k/keZ esa  

(D) jklk;fud xq.k/keZ esa  



Series-A B.Sc. - B020101T/ 564 Page - 11 

33.  

 

 

 

The above molecule shows :  

(A)   Geometrical isomerism   

(B) Optical isomerism  

(C) Both geometrical and optical 

isomerism  

(D) Neither geometrical nor 

optical isomerism  

 33.  

 

 

 

mi;qZDr v.kq iznf’kZr djrk gS % 

(A) T;kferh; leko;ork  

(B) izdkf’kd leko;ork 

(C) T;kferh; ,oa izdkf’kd leko;ork 

nksuksa 

(D) T;kferh; ,oa izdkf’kd leko;ork 

nksuksa gh ugha  

34. Which of the following subshells 

is not found ?  

(A)   4f  

(B) 3p 

(C) 2d 

(D) 1s 

 34. fuEu esa ls dkSu lk midks’k ugha ik;k 

tkrk\ 

(A)   4f  

(B) 3p 

(C) 2d 

(D) 1s 

35. Which of the following is a 7 Bit 
computer code ?  
(A)   BCD 
(B) ASCII 
(C) EBCDIC 
(D) All of the above  

 35. fuEu esa ls dkSu ,d 7 Bit dEI;wVj dksM 

gS\ 
(A)   BCD 
(B) ASCII 
(C) EBCDIC 
(D) mi;qZDr lHkh 

36. ‘MATLAB’ is a/an :  
(A)   Input device  
(B) Output device  
(C) Computer code 
(D) Software product  

 36. ‘MATLAB’ gS ,d % 

(A) buiqV fMokbl  

(B) vkmViqj fMokbl 

(C) dEI;wVj dksM 

(D) lk¶Vos;j izksMDV 

CH(CHଷ)COOH HଷC 

H 

C = C 

HଷC 

CH(CHଷ)COOH HଷC 

H 

C = C 

HଷC 
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37. The formal charge on the central 

oxygen atom in an ozone molecule 

is :  

(A)   0 

(B) +1 

(C) –1   

(D) –2 

 37. fdlh vkstksu v.kq ds dsUnzh; vkWDlhtu 

ijek.kq ij QkeZy vkos’k gS % 

(A)   0 

(B) +1 

(C) –1 

(D) –2 

38. The effective nuclear charge for 

the outermost electron in a N atom 

is :  

(A)   7.0 

(B) 5.8 

(C) 3.9 

(D) 3.3 

 38. fdlh N ijek.kq ds ckáre bysDVªkWu ij 

izHkkoh ukfHkdh; vkos’k gS % 

(A)   7.0 

(B) 5.8 

(C) 3.9 

(D) 3.3 

39. If 6Pr= 720 then what is the value 

of r ? 

(A)   0 

(B) 1 

(C) 4 

(D) 6 

 39. ;fn 6Pr= 720 gS rks r dk D;k eku gS \ 

(A)   0 

(B) 1 

(C) 4 

(D) 6 

40. If sin 60° = − √ଷ
ଶ

 ܽ݊݀ cos 60° = ଵ
ଶ
 

then what is the value of cot 60° ? 

(A)   4/√3 

(B) √3 

(C) 1/√3 

(D) −√3/2 

 40. ;fn Sin 60° = − √ଷ
ଶ
,oa cos 60° = ଵ 

ଶ
gS 

rks cot 60°dk D;k eku gksxk \ 

(A)   4/√3 

(B) √3 

(C) 1/√3 

(D) −√3/2 
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41. Which of the following molecules 

has zero dipole moment ?   

(A)   PClହ 

(B) HCl 

(C) NHଷ 

(D) NFଷ 

 41. fuEu esa ls fdl v.kq dk f}/kqzo vk?kw.kZ ‘kwU; 

gS \ 

(A)   PClହ 

(B) HCl 

(C) NHଷ 

(D) NFଷ 

42. The structure of SFସ molecule is :  

(A)   Tetrahedral  

(B) Distorted tetrahedral  

(C) Square planar  

(D) Octahedral  

 42. SFସv.kq dh lajpuk gS % 

(A) prq”Qydh; 

(B) foÑr prq”Qydh; 

(C) oxZ leryh; 

(D) v”VQydh; 

43. If log 2 = 0.3010 and log 3 =

0.4771 then the value of log 6 will 

be :  

(A)   0.7781 

(B) 0.1761 

(C) 0.6308 

(D) 0.1436 

 43. ;fn log 2 = 0.3010vkSj log 3 =

0.4771gS rks log 6 dk eku gksxk % 

(A)   0.7781 

(B) 0.1761 

(C) 0.6308 

(D) 0.1436 

44. What is the value of  6C2 ? 

(A)   15 

(B) 30 

(C) 60 

(D) 120 

 44. 6C2 dk eku D;k gS \ 

(A)   15 

(B) 30 

(C) 60 

(D)  120 
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45. The –I effect is shown by :  

(A)   −CN 

(B) −NOଶ 

(C) −COOH 

(D) All of the above  

 45. –I izHkko iznf’kZr fd;k tkrk gS % 

(A) −CN }kjk 

(B) −NOଶ}kjk 

(C) −COOH}kjk 

(D) mi;qZDr lHkh }kjk 

46. The number of sigma and pi bonds 

in ethyne (CଶHଶ) molecule are, 

respectively :  

(A)   2 and 3 

(B) 2 and 2 

(C) 3 and 0 

(D) 3 and 2 

 46. ,Fkkbu (CଶHଶ)v.kq esa flXek ,oa ikbZ 

vkca/kks dh la[;k gS] Øe’k% & 

(A) 2 ,oa 3 

(B) 2 ,oa 2 

(C) 3 ,oa 0 

(D) 3 ,oa 2 

47. Which of the following is an 

electrophilic reagent ?  

(A)   OHି 

(B) NHଷ 

(C) AlClଷ 

(D) CNି 

 47. fuEu esa ls dkSu ,d bysDVªkWu Lusgh 

vfHkdeZd gS \ 

(A)   OHି 

(B) NHଷ 

(C) AlClଷ 

(D) CNି 
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48. Due to which effect of CHଷ −

 group  the ethanoic acid is weaker 

acid than methanoic acid ? 

(A)   +I effect 

(B) −I effect 

(C) +E effect 

(D) +M effect 

 48. CHଷ −lewg ds fdl izHkko ds dkj.k 

esFksuksbd vEy dh rqyuk esa ,Fksuksbd vEy 

nqcZy vEy gS \ 

(A)   +I izHkko 

(B) −IizHkko 

(C) +E izHkko 

(D) +M izHkko 

49. The bond order of NO molecule is:  

(A)   2.5 

(B) 2.0 

(C) 1.5 

(D) 1.0 

 49. NO v.kq dh vkca/k dksfV gS % 

(A)   2.5 

(B) 2.0 

(C) 1.5 

(D) 1.0 

50. Which of the following is 

paramagnetic in nature ?  

(A)   Bଶ 

(B) Cଶ 

(C) CO 

(D) NOା 

 50. fuEu esa ls dkSu vuqpqEcdh; izÑfr dk gS % 

(A)   Bଶ 

(B) Cଶ 

(C) CO 

(D) NOା 
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51. The correct order of stability of 

carbocation’s is :  

(A)   (CHଷ)ଷC
ା

> (CHଷ)ଶC
ା

H > CHଷC
ା

Hଶ > C
ା

Hଷ 
(B)  (CHଷ)ଶC

ା
H > CHଷC

ା
Hଶ > (CHଷ)ଷC

ା
> C

ା
Hଷ 

(C)  CHଷC
ା

Hଶ > (CHଷ)ଶC
ା

H > C
ା

Hଷ > (CHଷ)ଷC
ା 

(D) C
ା

Hଷ > CHଷC
ା

Hଶ > (CHଷ)ଶC
ା

H > (CHଷ)ଷC
ା 

 51. dkcZ/kuk;uksa ds LFkkf;Ro dk lgh Øe gS % 

(A)   (CHଷ)ଷC
ା

> (CHଷ)ଶC
ା

H > CHଷC
ା

Hଶ > C
ା

Hଷ 
(B)  (CHଷ)ଶC

ା
H > CHଷC

ା
Hଶ > (CHଷ)ଷC

ା
> C

ା
Hଷ 

(C)  CHଷC
ା

Hଶ > (CHଷ)ଶC
ା

H > C
ା

Hଷ > (CHଷ)ଷC
ା 

(D) C
ା

Hଷ > CHଷC
ା

Hଶ > (CHଷ)ଶC
ା

H > (CHଷ)ଷC
ା
 

52. Homolytic fission of a covalent 

bond produces :  

(A)   Free radicals  

(B) Carbocation’s  

(C) Carbanions  

(D) Benzyne intermediate  

 52. fdlh lgla;ksth cU/k dk leki?kVuh 

fonyu mRiUu djrk gS % 

(A) eqDr ewyd 

(B) dkcZ/kuk;u  

(C) dkcZ_.kk;u 

(D) csUtkbu e/;orhZ 

53. Which of the following structures 
produce E-Z isomers ?  
(A)   aଶc = cbଶ 
(B) abc = cab 
(C) abc = cax 
(D) abc = cxy 

 53. fuEu esa ls dkSu lh lajpuk E-Z leko;ork 

mRiUu djrh gS \ 

(A)   aଶc = cbଶ 
(B) abc = cab 
(C) abc = cax 
(D) abc = cxy 

54. d-Tartaric acid and Meso-Tartaric 

acids are :  

(A)   Enantiomers  

(B) Diastereomers  

(C) Geometrical isomers  

(D) Conformational isomers  

 54. d-VkVZfjd vEy ,oa eslks&VkVZfjd vEy gS& 

(A) izfrfcEc :i ¼,usfUl;kselZ½ 

(B) Mk;LVhfj;kselZ 

(C) T;kferh; leko;o 

(D) la:i.kh; leko;o 
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55. Which among the following is 

most stable free radical ?  

(A)   ĊHଷ 

(B) CHଷĊHଶ 

(C) (CHଷ)ଶĊH 

(D) (CHଷ)ଷĊ 

 55. fuEu esa ls dkSu lk eqDr ewyd lokZf/kd 

LFkk;h gS \ 

(A)   ĊHଷ 

(B) CHଷĊHଶ 

(C) (CHଷ)ଶĊH 

(D) (CHଷ)ଷĊ 

56. Which among the following is 

most stable carbocation ?  

(A)   Tropylium (C଻H଻
ା) cation  

(B) Triphenylmethyl carbocation  

(C) Isopropyl carbocation  

(D) Methyl carbocation  

 56. fuEu esa ls dkSu lk dkcZ/kuk;u lokZf/kd 

LFkk;h gS \ 

(A) Vªksikbfy;e (C଻H଻
ା)/kuk;u 

(B) VªkbZQsfuyesfFky dkcZ/kuk;u  

(C) vkblks izksfiy dkcZ/kuk;u 

(D) esfFky dkcZ/kuk;u 

57. The reaction  

CHସ + Clଶ
  ୦஝  
ሱ⎯ሮ CHଷCl + HCl 

occurs through :  

(A)   Electrophilic substitution  

(B) Nucleophilic substitution  

(C) Free radical substitution 

(D) None of the above  

 57. CHସ + Clଶ
  ୦஝  
ሱ⎯ሮ CHଷCl + HClvfHkfØ;k 

lEikfnr gksrh gS % 

(A) bysDVªkWuLusgh izfrLFkkiu }kjk 

(B) ukfHkdLusgh izfrLFkkiu }kjk 

(C) eqDr ewyd izfrLFkkiu }kjk 

(D) mi;qZDr esa ls dksbZ ugha  

58. Which of the following is a 

temporary effect ?  

(A)   Inductive effect 

(B) Electromeric effect   

(C) Resonance effect  

(D) Hyperconjugation  

 58. 

 

 

fuEu esa ls dkSu ,d vLFkk;h izHkko gS \ 

(A) izsjf.kd izHkko 

(B) bysDVªksesjh izHkko 

(C) vuqukn izHkko 

(D) vfrla;qXeu 
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59. Which of the following is an 

output device in a computer ?  

(A)   Keyboard  

(B) Mouse  

(C) RAM 

(D) Projector 

 59. fuEu esa ls dkSu dEI;wVj dk ,d vkmViqV 

fMokbl gS \ 

(A) dhcksMZ 

(B) Ekkml 

(C) jSe 

(D) izkstsDVj 

60. Which among the following is not 

a computer operating system ?  

(A)   LINUX 

(B) Windows  

(C) DOS 

(D) Python 

 60. fuEu esa ls dkSu&lk ,d dEI;wVj vkijsfaVax 

flLVe ugha gS \ 

(A)   LINUX 

(B) Windows  

(C) DOS 

(D) Python 

61. Which is not an Input device in a 

computer ?  

(A)   Punched card  

(B) Scanner  

(C) Printer  

(D) Optical Mark Reader  

 61. fuEu esa ls dkSu dEI;wVj dk ,d buiqV 

fMokbl ugha gS \ 

(A) iap dkMZ 

(B) LdSuj 

(C) fizaVj  

(D) vkfIVdy ekdZ jhMj 

62. Which of the following is related 

to memory of a computer ?  

(A)   RAM 

(B) VDU 

(C) DVD 

(D) ALU 

 62. fuEu esa ls dkSu fdlh dEI;wVj dh eSeksjh ls 

lEcfU/kr gS \ 

(A)   RAM 

(B) VDU 

(C) DVD 

(D) ALU 
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63. The correct sequence of atomic 

size is :   

(A)   Clା < ݈ܥ < Clି 

(B) Clି < Clା <  ݈ܥ

(C) Clି < ݈ܥ < Clା 

(D) Cl < ା݈ܥ < Clି 

 63. ijek.kq vkdkj dk lgh Øe gS % 

(A)   Clା < ݈ܥ < Clି 

(B) Clି < Clା <  ݈ܥ

(C) Clି < ݈ܥ < Clା 

(D) Cl < ା݈ܥ < Clି 

64. Slater rules are used to measure :  

(A)   Electronegativity  

(B) Electron gain enthalpy  

(C) Ionisation enthalpy  

(D) Effective nuclear charge  

 64. buesa ls D;k ekius esa LysVj fu;eksa dk 

mi;ksx gksrk gS \ 

(A) fon~;qr _.kkRedrk 

(B) bysDVªkWu yfC/k ,UFkSYih 

(C) vk;uu ,UFkSYih 

(D) izHkkoh ukfHkdh; vkos’k  

65. What is the hybridisation of Xୣ 

atomin X௘Fଶ molecule ?  

(A)   sp 

(B) spଷ 

(C) spଷd 

(D) spଷdଶ 

 65. X௘Fଶv.kq esa Xୣijek.kq dk ladj.k D;k gS \ 

(A)   sp 

(B) spଷ 

(C) spଷd 

(D) spଷdଶ 

66. The shape of ClFଷ molecule is :  

(A)   Trigonal planar  

(B) Trigonal pyramidal  

(C) T-shape  

(D) Distorted tetrahedral  

 66. ClFଷv.kq dh lajpuk gS % 

(A) f=dks.kh; leryh;  

(B) f=dks.kh; fijkfeMh  

(C) T-vkÑfr 

(D) foÑr prq”Qydh; 
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67. The value of ଽ!
ଶ! ହ!

  is :  

(A)   504 

(B) 1008 

(C) 1512 

(D) 3024 

 67. ଽ!
ଶ! ହ!

dk eku gS % 

(A)   504 

(B) 1008 

(C) 1512 

(D) 3024 

68. The probability of selecting a boy 

from a group of 7 boys and 5 girls 

is :  

(A)   7/12 

(B) 5/12 

(C) 1/7 

(D) 5/7 

 68. 7 yM+ds ,oa 5 yM+fd;ksa okys lewg ls ,d 

yM+ds ds p;u dh izkf;drk gS % 

(A)   7/12 

(B) 5/12 

(C) 1/7 

(D) 5/7 

69. Which among the following 

molecules react fastest by SN1 

reaction ?   

(A)   (CHଷ)ଷC − Br 

(B) (CHଷ)ଶCH − Br 

(C) CHଷCHଶ − Br 

(D) CHଷ − Br 

 69. fuEu esa ls dkSu lk v.kq SN1 vfHkfØ;k ds 

}kjk rhozre vfHkfØ;k djsxk \ 

(A)   (CHଷ)ଷC − Br 

(B) (CHଷ)ଶCH − Br 

(C) CHଷCHଶ − Br 

(D) CHଷ − Br 

70. The number of angular nodes in a 

p orbital is :  

(A)   0 

(B) 1 

(C) 2 

(D) 3 

 70. fdlh pd{kd ds fy, dks.kh; uksMksa dh 

la[;k gS % 

(A)   0 

(B) 1 

(C) 2 

(D) 3 
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71. H atoms are most acidic in :  

(A)   Methane 

(B) Ethane 

(C) Ethene 

(D) Ethyne  

 71. Hijek.kq lcls vf/kd vEyh; gksrs gS % 

(A) esFksu esa  

(B) ,Fksu esa  

(C) ,Fkhu esa  

(D) ,Fkkbu esa  

72. The % s character in spଷ 

hybridization is :  

(A)   25 

(B) 33 

(C) 50 

(D) 67 

 72. spଷladj.k esa % s y{k.k gksrk gS % 

(A)   25 

(B) 33 

(C) 50 

(D) 67 

73. Which of the following cations has 

maximum polarizing power ?  

(A)   Naା 

(B) Kା 

(C) Mgଶା 

(D) Alଷା 

 73. fuEu esa ls fdl /kuk;u dh /kzqo.k {kerk 

lokZf/kd gS \ 

(A)   Naା 

(B) Kା 

(C) Mgଶା 

(D) Alଷା 

74. Which molecule in liquid state has 

hydrogen bonding ?  

(A)   HF 

(B) HଶO 

(C) NHଷ 

(D) All of the above  

 74. fdl v.kq ds nzo voLFkk esa gkbMªkstu 

vkcU/ku gksrk gS \ 

(A)   HF 

(B) HଶO 

(C) NHଷ 

(D) mi;qZDr lHkh esa  
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75. Among the following molecules, 

which has least bond order 

?Nଶ, CO, Oଶ, NO 

(A)   Nଶ 

(B) CO 

(C) Oଶ 

(D) NO 

 75. fuEu v.kqvksa esa ls fdldk vkca/k dksfV 

U;wure gS \ Nଶ, CO, Oଶ, NO 

(A)   Nଶ 

(B) CO 

(C) Oଶ 

(D) NO 

76. According to Pauling scale, the 

correct option for electronegativity 

of elements is :    

(A)   Li > Na > K  

(B) F > N > O 

(C) Cl > F > Br 

(D) N > O > F  

 76. ikWfyax iSekus ds vuqlkj]rRoksa dh fon~;qr 

_.kkRedrk dk lgh fodYi gS % 

(A)   Li > Na > K  

(B) F > N > O 

(C) Cl > F > Br 

(D) N > O > F  

77. d-Lactic acid and l-Lactic acids 

are:  

(A)   Enantiomers  

(B) Diastereomers  

(C) Geometrical isomers  

(D) Conformational isomers  

 77. d-ySfDVd vEy ,oa l-ySfDVd vEy gSa % 

(A) izfrfcEc :i ¼,usfUl;kselZ½ 

(B) Mk;LVhfj;kselZ 

(C) T;kferh; leko;o 

(D) la:i.kh; leko;o 

78. Which of the following structures 

produces cis- trans isomerism ?  

(A)   aଶc = caଶ 

(B) aଶc = cbଶ 

(C) abc = cbଶ 

(D) abc = cab 

 78. fuEu esa ls dkSu lh lajpuk fll&Vªkal 

leko;ork mRiUu djrh gS \ 

(A)   aଶc = caଶ 

(B) aଶc = cbଶ 

(C) abc = cbଶ 

(D) abc = cab 
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79. Geometrical isomerism is shown 

by :  

(A)    

 

(B)  

 

 

(C)   

  

(D) All of the above  

 79. T;kferh; leko;ork iznf’kZr dh tkrh gS % 

(A)    

 

(B)  

 

 

(C)   

 

(D) mi;qZDr lHkh 

80. Which among the following 

molecules has largest dipole 

moment ? 

(A)   o-Dibromobenzene 

(B) m-Dibromobenzene 

(C) p-Dibromobenzene 

(D) 1,3,5-Tribromobenzene 

 80. fuEu v.kqvksa esa ls fdldk f}/kzqo vk/kw.kZ 

lokZf/kd gS \ 

(A) o-MkbZczksekscsUthu  

(B) m-MkbZczksekscsUthu 

(C) p-MkbZczksekscsUthu  

(D) 1,3,5-VªkbZczksekscsUthu 

81. Which is the most stable 

conformation of cyclohexane 

molecule ?  

(A)   Chair  

(B) Half chair  

(C) Twist boat  

(D) Boat  

 81. fuEu esa ls dkSu lkbDyksgsDlsu dk lokZf/kd 

LFkk;h la:i.k gS \ 

(A) ps;j 

(B) gkQ ps;j 

(C) fV~oLV cksV 

(D) cksV 

Cl Cl 

H H 

C଺Hହ − C − CHଷ 

N − OH 

C଺Hହ − C − CHଷ 

N − OH 

H 

CH3 

C2H5 

C C 

H3C 

Cl Cl 

H H 

H 

CH3 

C2H5 

C C 

H3C 
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82. Which one of the following is a Z 

isomer ?  

 

(A)    

 

 

(B)  

 

(C)  

 

(D)  

 

 82. fuEu esa ls dkSu ,d Zleko;o gS \ 

 

 

(A)  

 

 

(B)  

 

(C)  

 

(D)  

 

83. Which of the following is a high 

level language in computer ?  

(A)   C++ 

(B) Java 

(C) Java script 

(D) All of the above  

 83. fuEu esa ls dkSu dEI;wVj dh ,d gkbZ ysoy 

ySaXost gS \ 

(A)   C++ 

(B) Java 

(C) Java script 

(D) mi;qZDr lHkh 

84. Q Basic is a :  

(A)   Low level language  

(B) Assembly language  

(C) High level language  

(D) Software product  

 84. Q Basic gS ,d % 

(A) yks ysoy ySaXost  

(B) vlSEcyh ySaXost  

(C) gkbZ ysoy ySaXost  

(D) lk¶Vos;j izksMDV 

Br 

Cl 

H 

H3C 

C C 

H 

H 

CH3 

H3C 

C C 

H 

Cl 

Br 

C C 

H3C 

H 

Br 

Cl 

C C 

H3C 

H 

Br 

Cl 

C C 

H3C 

H 

Cl 

Br 

C C 

H3C 

Br 

Cl 

H 

H3C 

C C 

H 

H 

CH3 

H3C 

C C 



Series-A B.Sc. - B020101T/ 564 Page - 25 

85. The electronegativity of an 

element is measured by :   

(A)   Pauling scale  

(B) Mulliken scale 

(C) Allred-Rochow scale  

(D) All of the above 

 85. fdlh rRo dh fon~;qr _.kkRedrk dk ekiu 

gksrk gS % 

(A) ikWfyx Ldsy  

(B) eqfydu Ldsy  

(C) vyMZ jkpks Ldsy 

(D) mi;qZDr lHkh 

86. Which among the following group 

of elements have least 

electronegativity ?  

(A)   Alkali metals  

(B) Alkaline earth metals  

(C) Oxygen group 

(D) Halogens  

 86. fuEu esa ls rRoksa ds fdl lewg dh fon~;qr 

_.kkRedrk U;wure gS \ 

(A) {kkj /kkrq,¡ 

(B) {kkjh; ènk /kkrq,¡ 

(C) vkWDlhtu lewg 

(D) gSykstUl 

87. The VSEPR theory was put 

forward by :  

(A)   Kossel and Lewis  

(B) Hund and Mulliken  

(C) Sidgwick and Powell 

(D) Heitler and London  

 87. VSEPR fl)kar dks izfrikfnr fd;k x;k 

Fkk % 

(A) dkWlsy ,oa yqbl }kjk 

(B) gqaM ,oa eqfydu }kjk 

(C) fltfod ,oa ikWosy }kjk 

(D) gkbVyj ,oa yaMu }kjk 
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88. The bond angle(s) produced due to 

spଷdଶ hybridisation is/are :  

(A)   109° 28′ 

(B) 120° and 90° 

(C) 90° 

(D) 72° and 90° 

 88. spଷdଶladj.k ds dkj.k mRiUu gksus 

okyk@okys dks.k gS@gSa & 

(A)   109° 28′ 

(B) 120°,oa90° 

(C) 90° 

(D) 72°,oa90° 

89. The structure of a molecule is 

decided by :  

(A)   Bond pairs of electrons only  

(B) Lone pairs of electrons only  

(C) Both bond pairs and lone 

pairs of electrons  

(D) Neither bond pairs nor lone 

pairs of electrons  

 89. fdlh v.kq dh lajpuk fu/kkZfjr gksrh gS % 

(A) dsoy vkca/kh bysDVªkWu ;qXeksa }kjk 

(B) dsoy ,dkdh bysDVªkWu ;qXeksa }kjk 

(C) nksuksa vkca/kh ,oa ,dkdh bysDVªkWu 

;qXeksa }kjk  

(D) u rks vkca/kh ,oa u gh ,dkdh 

bysDVªkWu ;qXeksa }kjk 

90. The amount of repulsion among 

electron pairs is maximum in :   

(A)   Lone pair –lone pair 

repulsion  

(B) Lone pair–bond pair 

repulsion  

(C) Bond pair – bond pair 

repulsion  

(D) Repulsion is same among all 

electron pairs  

 90. bysDVªkWu ;qXeksa ds e/; izfrd”kZ.k dh ek=k 

lokZf/kd gksrh gS % 

(A) ,dkdh ;qXe &,dkdh ;qXe izfrd”kZ.k 

esa  

(B) ,dkdh ;qXe&vkca/kh ;qXe izfrd”kZ.k esa  

(C) vkca/kh ;qXe & vkca/kh ;qXe izfrd”kZ.k 

esa  

(D) lHkh bysDVkWu ;qXeksa ds e/; izfrd”kZ.k 

leku gksrk gS  
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91. Who is considered as Father of 

Indian chemistry ?  

(A)   Acharya P.C. Ray 

(B) Dr. C. V. Raman 

(C) Dr. J. C. Bose 

(D) Dr. Shanti Swaroop 

Bhatnagar  

 91. fdls Hkkjrh; jlk;u ‘kkL= dk firk ekuk 

tkrk gS \ 

(A) vkpk;Z ihŒ lhŒ js 

(B) MkWŒ lhŒ ohŒ jeu 

(C) MkWŒ tsŒ lhŒ cksl 

(D) MkWŒ ‘kkfUr Lo:i HkVukxj 

92. Which pair is wrongly matched ?  

(A)   Charak – Medicine 

(B) Sushruta –Surgery  

(C) Dr. Hargovind Khorana–

Genetic code 

(D) Dr. S.N. Bose – Economics  

 92. dkSu lk ;qXe xyr gS \ 

(A) pjd & esfMflu 

(B) lqJqr & ltZjh 

(C) MkWŒ gjxksfoUn [kqjkuk & tsufVd 

dksM 

(D) MkWŒ ,lŒ ,uŒ cksl & vFkZ’kkL= 

93. Which is an example of Vander 
Waals interaction ?   
(A)   Dipole–dipole interaction  
(B) Ion–dipole interaction  
(C) Ion–ion interaction 
(D) Covalent bonding  

 93. okUMj okYl vU;ksU; fØ;k dk dkSu ,d 

mnkgj.k gS \ 

(A) f}/kzqo &f}/kzqo vU;ksU; fØ;k 

(B) vk;u &f}/kqzo vU;ksU; fØ;k 

(C) vk;u & vk;u vU;ksU; fØ;k 

(D) lgla;ksth vkcU/ku 

94. Which of the following molecules 
has maximum covalent character ?  
(A)   NaCl 
(B) CsCl 
(C) MgClଶ 
(D) CClସ 

 94. fuEu esa ls fdl v.kq esa lokZf/kd lgla;ksth 

y{k.k gS \ 
(A)   NaCl 
(B) CsCl 
(C) MgClଶ 
(D) CClସ 
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95. Which among the following 

molecules has a finite dipole 

moment ? 

(A)   Nଶ 

(B) CO 

(C) BFଷ 

(D) CHସ 

 95. fuEu v.kqvksa esa ls fdlds ikl fu;r f}/kzqo 

vk?kw.kZ gS \ 

(A)   Nଶ 

(B) CO 

(C) BFଷ 

(D) CHସ 

96. The number of lone pair of 

electrons present on the central 

atom of HଷOା is : 

(A)   0 

(B) 1 

(C) 2 

(D) 3 

 96. HଷOାds dsUnzh; ijek.kq ij mifLFkr 

,dkdh bysDVªkWu ;qXe dh la[;k gS % 

(A)   0 

(B) 1 

(C) 2 

(D) 3 

97. Among the following, which are 

paramagnetic molecules? 

Nଶ, CO, Oଶ, NO 

(A)   NଶandCO 

(B) CO and Oଶ 

(C) Oଶand NO 

(D) Nଶ and NO 

 97. fuEu esa ls dkSu vuqpqEcdh; v.kq 

gSa\Nଶ, CO, Oଶ, NO 

(A) Nଶ,oaCO 

(B) CO,oaOଶ 

(C) Oଶ,oaNO 

(D) Nଶ,oaNO 

98. Which of the following elements 
has largest negative electron gain 
enthalpy ?  
(A)   F 
(B) Cl 
(C) Br 
(D) I 

 98. fuEu esa ls fdl rRo dh bysDVªkWu yfC/k 

,UFkSYih lokZf/kd _.kkRed gS \ 
(A)   F 
(B) Cl 
(C) Br 
(D) I 
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99. Which of the following has largest 
atomic size ? 
(A)   11Na 
(B) 12Mg 
(C) 9F 
(D) 17Cl 

 99. fuEu esa ls fdldk ijek.kq vkdkj lokZf/kd 

gS \ 
(A)   11Na 
(B) 12Mg 
(C) 9F 
(D) 17Cl 

100. Which of the following has 
smallest ionic radius ? 
(A)   12Mgଶା 
(B) 13Alଷା 
(C) 9Fି 
(D) 16Sଶି 

 100. fuEu essa ls fdldh vk;fud f=T;k lcls 

de gS \ 

(A)   12Mgଶା 
(B) 13Alଷା 
(C) 9Fି 
(D) 16Sଶି 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 


